Pattern 9 (IPart 2)

Course Instructor: Ethar N. Jameel

University of Basra
College of Education for H. Scs.
English Department



Pattern 9 (the Second Structure)
N! TRV N? Aj

In this structure N2 is followed by an adjectival component.

| consider you smart.
N1 TrV \E Al
| consider that you are smart. Or | consider you to be smart.

They judged him guilty
NI TV N2 A

* They judged that he was guilty or They judged him to be guilty

She supposed the lesson easy.
N1 Trv N2 Aj

» She supposed that the lesson was easy. Or  She supposed the lesson to be easy.
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Pattern 9 (the Third Structure)

N! TRV N? Av

. Ln i[his str)ucture N2 is followed by an adverb of place, like: (upwards, downstairs, up, outside, there, outdoors, here,
elow,...

* The adverb in this structure is obligatory not optional.

 We supposed himoutside......................oooll.
« NI Trv \E Av
* We supposed that he was outside or We supposed him to be outside

* | Dbelieved the noise upstairs..............cccceeveeennn...

* N1 TrvV N2 Av
» | believed that the noise was upstairs  or | believed the noise to be upstairs

« Tom thought the money somewhere in the house. .................
N1 Trv N2 Av
« Tom thought that the money was somewhere in the house or Tom thought the money to be somewhere in the house “J
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In this structure N2 is followed by a verb

The police found that the man was stealing

Her mother thought her studyin
. N1 Trv N2 (v+ing)
Her mother thought that she was studying.

* | feel the baby crying.
N1 TrV N2 (v+ing)
| feel that the baby is crying. Or | feel

PATTERN 9 (The Fourth Structure)
N! TRV N? V+ING

with (-ing).

The police found the man stealing.
N1 Trv N2 (v+ing)

or The police found the man to be stealing

g.

Or Her mother thought her to be studying.

the baby to be crying.
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PATTERN 9 (The Fifth Structure)
N! TRV N? V(P.P)

In this structure N2 is followed by a verb in past participle form.

| believed him seated.
N* Trv Nz (v(p.p.)

| believed that he was seated. or | believed him to be seated.

She proved the box locked.
N1 Trv N2 (v(p.p.))

She proved that the box was locked or she proved the box to be locked

Sam found all window glasses broken.

N1 Trv N2 (v(p.p.))
Sam found that all window glasses were broken or

Sam found all window glasses to be broken



PATTERN 9 (The Sixth Structure)
N! TRV N? tobe

In this structure N2 is followed by (to+ be) followed by a noun, an adjective, an adverb, (verb+ing), (v(p.p.)

George chose Emma to be his wife.

. N1 TrVv N2 to be
George chose that Emma was his wife.

We imagined you to be playing.
e NI Trv N2 to be
We imagined that you were playing.

* | considered her to be clever.
N1 TrVvV N2 to be
| considered that she was clever.
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